

4. J.

Jessen, Selberg Congress 1946.

Selberg statement about zeros of $\zeta(s) = \dots$
 work of Jessen and for fixed $\sigma > \frac{1}{2}$

(a) Distribution of a function $f(s)$ on lines $s = \sigma + it$; "time" spent in region Ω .
 $\lim_{T \rightarrow \infty} \frac{1}{T} \int_0^T \mathbb{1}_{\Omega}(f(\sigma + it)) dt \rightarrow \int_{\Omega} D_{\sigma}(z) d\mu(z)$

$$\int \int D_{\sigma}(z) d\mu(z) = 1.$$

$$\hat{D}_{\sigma}(w) = \int D_{\sigma}(z) e^{\pi i (w \bar{z} + \bar{w} z)} d\mu(z)$$

$$= \lim_{T \rightarrow \infty} \frac{1}{T} \int_0^T e^{\pi i (w f(\sigma + it) + \bar{w} f(\sigma + it))} dt$$

$$\text{by } f(\sigma + it)$$

$$D_{\sigma}(w) = \prod_p \left(1 + \sum_{\gamma=1}^{\infty} \left(\frac{\pi i w}{p} \right) \left(\frac{\pi i \bar{w}}{p} \right) p^{-2\gamma\sigma} \right)$$

for small $|w|$ take $e^{-\pi^2 |w|^2 \sum_p \frac{1}{p^{2\sigma}}}$

normalize

$$\frac{\text{by } f(\sigma + it)}{\sqrt{\pi \sum_p p^{-2\sigma}}}$$

$$D_{\sigma}(z) \sim \frac{1}{\sqrt{\pi}} e^{-\pi |z|^2}$$

$$\hat{D}_{\sigma}(w) \sim \frac{1}{\sqrt{\pi}} e^{-\pi |w|^2}$$

$$\text{by } f(\sigma + it)$$

$\sqrt{\pi} \text{ by } \sigma - \frac{1}{2}$ conjecture for $\sigma = \frac{1}{2}$ or

very near by t replace $\frac{1}{\sigma - \frac{1}{2}}$

(2) 1.

Old results:

$$(A) \int_T^{2T} \log \zeta(\frac{1}{2} + it) - \sum_{p \leq T^{\frac{1}{2k}}} p^{-\frac{1}{2} - it} dt$$

$$= O(T^k A^k)$$

really with
 $A=5$
under $A=4$

$$(B) \frac{1}{T} \int_T^{2T} (\log \zeta(\frac{1}{2} + it))^h (\overline{\log \zeta(\frac{1}{2} + it)})^k dt$$

$$= \delta_{h,k} k! \left(\log \frac{2T}{k} \right)^k$$

$$+ O(p(\frac{h+k}{2} + 1) (h+k)^A \left(\log \frac{2T}{h+k} \right)^{\frac{h+k-1}{2}})$$

$$+ O((h+k)^A \frac{h+k}{2})$$

on R.H. middle term \circledast improved

$$\text{to } \frac{h+k}{2} - 1$$

Distribution properties of

$$f(t) = \frac{\log \zeta(\frac{1}{2} + it)}{\sqrt{\pi} \log t} ; f_1(t) = R f(t)$$

distribution f.

$$\frac{1}{\sqrt{\pi}} e^{-\pi |z|^2}$$

distribution function.

$$e^{-\pi x^2}$$

3

generalization to $f_i(t) = f(\alpha_i t + \beta_i)$
 with ~~α_i, β_i~~ $\neq 0$ for $i \neq j$, $(\alpha_i + \alpha_j)^2 + (\beta_i - \beta_j)^2 \neq 0$
 statistically independent. $\frac{\alpha_i \neq 0}{act}$.

$f(t)$ and $f(t+\rho)$ statistically indep. in $T, 2T$
 for $\log \frac{1}{\rho} = o(\log \log T)$ (short memory)
 $\beta > (\log T)^{-\epsilon}$

Evaluate integrals

$$\frac{1}{T} \int_0^T F\left(\frac{\log f(\frac{1}{2} + it)}{\sqrt{\log \log T}}\right) dt$$

assumpt.



Boundary \mathbb{E} rectifiable length L .

measure of t in $(0, T)$ for which
 $f(t)$ in Ω is

$$T \iint_{\Omega} e^{-\pi |z|^2} dx dy + O\left(\frac{T L}{\sqrt{\log \log T}}\right)$$

measure of t for which $b_1 \leq f_1(t) \leq b_2$

$$\text{is } \frac{\pi}{\sqrt{\pi}} \int_{b_1}^{b_2} e^{-\pi x^2} dx + O\left(\frac{T}{\sqrt{\log \log T}}\right)$$

Distribution of zeros of $\zeta(s) - a$.

denote by ρ and $\beta + i\gamma$ (if we have also reference to zeros of $\zeta(s)$ in this connection denote by $\rho^0, \beta^0 + i\gamma^0$)

Remind of functional equation

$$\bar{u}^{-\frac{1}{2}} \rho(\frac{1}{2}) \zeta(s) \quad (s \leftrightarrow 1-s)$$

real on line $\sigma = \frac{1}{2}$

for $s = \frac{1}{2} + it$

$$\text{write } \arg \bar{u}^{-\frac{1}{2}} \rho(\frac{1}{2}) = \frac{1}{i} \mathcal{D}(t) = \mathcal{O}(t)$$

then $t > 0$

$$\mathcal{O}(t) = \frac{t}{2} \ll \frac{t}{\sqrt{t}} + c + \mathcal{O}\left(\frac{1}{t}\right)$$

$$\text{for } t > A; \mathcal{O}'(t) = \frac{1}{2} \ll \frac{t}{\sqrt{t}} + \mathcal{O}\left(\frac{1}{t}\right) > 0$$

also

$$|\zeta(\frac{1}{2} - \delta + it)| = \left(\frac{t}{\sqrt{t}}\right)^\delta |\zeta(t + \delta + it)| (1 + \mathcal{O}\left(\frac{\delta}{t}\right))$$

for δ ~~small~~ small, unif for $t > A; 0 \leq \delta \leq \delta_0$

assume $a \neq 1$ for convenience.

$$(1) N_a(T) = \frac{T}{2\pi} \ll \frac{T}{\sqrt{t}} + \mathcal{O}(\log T)$$

$$(2) \sum_{A \leq \gamma \leq T} (\beta - \frac{1}{2}) = \mathcal{O}(\log T)$$

(1) as for zeros of $\zeta(s)$, (2) by computing with μ large enough to have all zeros in $A \leq \sigma \leq T$ in $\beta > -\mu$

$$\sum_{A \leq \sigma \leq T} (\beta + \mu) = (\mu + \frac{1}{2}) \frac{T}{2\pi} \int_{-\pi}^{\pi} \frac{1}{2\pi i} + O(\log T)$$

(use Littlewood's theorem.)

$$\sum \beta - \sigma_1 = \frac{1}{2\pi} \int_{T_1}^{T_2} \int_0^{2\pi} |\zeta(\sigma_1 + it)| dt$$

$$+ \frac{1}{2\pi} \int_{T_1}^{T_2} \int_0^{2\pi} |\zeta(\sigma_2 + it)| dt$$

$$+ \int_{\sigma_1}^{\sigma_2} \arg \zeta(\sigma + iT_1) d\sigma + \int_{\sigma_1}^{\sigma_2} \arg \zeta(\sigma + iT_2) d\sigma$$

$$(3) \sum_{A \leq \sigma \leq T} \beta - \frac{1}{2} = \frac{1}{2\pi} \int_A^T \int_0^{2\pi} |\zeta(\frac{1}{2} + it) - a| dt$$

$$- \frac{1}{2\pi} \int_A^{\infty} \int_0^{2\pi} \frac{|\zeta(\sigma_2 + it) - a|}{1-a} dt$$

$$- \frac{1}{2\pi} \int_A^{\infty} \int_0^{2\pi} |1-a| + O(\log T)$$

1st integral divide in 3 parts.

$$J_1: |\zeta(\frac{1}{2} + it)| \geq \frac{3}{2}|a|; J_2: |\zeta(\frac{1}{2} + it)| \leq \frac{1}{2}|a|$$

J_3 rest.

$$m(J_1) = \frac{T}{2} + O\left(\frac{T}{\sqrt{RST}}\right)$$

$$m(J_2) = \frac{T}{2} + O\left(\frac{T}{\sqrt{RST}}\right)$$

$$m(J_n) = O\left(\frac{T}{\sqrt{RST}}\right)$$

In J_2 \neq

$$L_2 |f(\frac{1}{2} + it) - a| = L_2 |a| + O\left(\frac{|f(\frac{1}{2} + it)|}{a}\right)$$

$$|a| \int_m^{-m} f(\frac{1}{2} + it) dt \leq |a| 2^{-k} \int_m^{-m} dt$$

L_2

$$\int_{J_2} = \frac{T}{2} L_2 |a| + O\left(\frac{T}{\sqrt{RST}}\right)$$

In J_m

$$|f(\frac{1}{2} + it) - a| = |e^{i\theta(t)} f(\frac{1}{2} + it) - a e^{i\theta(t)}|$$

$$\geq |y a e^{i\theta(t)}| = \frac{1}{2} |a e^{i\theta(t)} - \bar{a} e^{-i\theta(t)}|$$

$$= \theta(t) |a| |a| \sin(\theta(t) + \alpha)$$

$$\int_{J_3} = O\left(\frac{T}{\sqrt{RST}}\right) + \int_{J_3} |g| |f(t)| dt$$

$$\leq (m(J_3))^{1-\frac{1}{2k}} \cdot \left(\int_0^T L_2^{2k} |f(t)| dt\right)^{\frac{1}{2k}}$$

suitable choice of k as func of T

$$O\left(T \frac{L_2 R S T}{\sqrt{RST}}\right)$$

1. J_1 (7)

$$\begin{aligned} \mathcal{L}\left|\left(\beta + \frac{1}{2} + it\right) - a\right| &= \mathcal{L}\left|\beta + \frac{1}{2} + it\right| + O\left(\frac{a}{\beta + \frac{1}{2} + it}\right) \\ &= \frac{1}{2\pi} \int_A^T \mathcal{L}^+ \left|\beta + \frac{1}{2} + it\right| dt + O\left(\frac{T}{\sqrt{\beta} \sqrt{\beta T}}\right) \end{aligned}$$

$$\begin{aligned} \sum_{\beta > \frac{1}{2}} \left(\beta - \frac{1}{2}\right) &= \frac{1}{2\pi} \int_A^T \mathcal{L}^+ \left|\beta + \frac{1}{2} + it\right| dt \\ A \leq \beta \leq T &+ \frac{1}{4\pi} T \mathcal{L} \frac{|1-a|^2}{|a|} + O\left(\frac{T \sqrt{\beta T}}{\sqrt{\beta} \sqrt{\beta T}}\right) \end{aligned}$$

without R.H.

$$\int_A^T \mathcal{L}^+ \left|\beta + \frac{1}{2} + it\right| dt = T \sqrt{\beta T} \int_0^{\infty} x e^{-\pi x^2} dx + O(T)$$

with R.H. can show.

$$\begin{aligned} &= T \sqrt{\beta T} \int_0^{\infty} x e^{-\pi x^2} dx + O\left(\frac{T}{(\beta T)^{\frac{1}{2}-\epsilon}}\right) \\ &= \frac{T \sqrt{\beta T}}{2\sqrt{\pi}} + \begin{cases} O(T) \\ O\left(\frac{T}{(\beta T)^{\frac{1}{2}-\epsilon}}\right) \text{ on R.H.} \end{cases} \end{aligned}$$

thus

$$\sum_{\beta > \frac{1}{2}} \left(\beta - \frac{1}{2}\right) = \frac{T \sqrt{\beta T}}{4\pi \sqrt{\pi}} + \frac{T}{2\pi} \mathcal{L} \frac{|1-a|^2}{|a|} + \begin{cases} O(T) \\ O\left(\frac{T}{(\beta T)^{\frac{1}{2}-\epsilon}\right) \end{cases}$$

$A < \beta < T$

proves that if $\frac{\phi(x)}{x^{\frac{1}{2}-\epsilon}} \rightarrow \infty$ almost all zero ρ in $(\sigma - \frac{1}{2}) < \frac{\rho(t)}{2\pi}$

by $f(\sigma+it)$

$$w = \frac{1}{2}(\sigma+it)$$

$$\iint D_\sigma(z) e^{-\pi i(wz + \bar{w}z)} dz d\bar{z}$$

$$\frac{1}{T} \iint (f(\sigma+it))^{-1} \pi i \overline{(f(\sigma+it))} dt$$

$$\frac{1}{T} \int_{-T}^T (f(\sigma+it)) \pi i \overline{(f(\sigma+it))} dt$$

$$\pi \left(1 + \frac{\pi^2 w^2}{p^{2\sigma}} + \frac{(\pi i w)(\pi i w - 1)(\pi i \bar{w} - 1) \bar{w}}{-\frac{\pi^2 w^2}{2} (-\pi^2 w^2 + 1 + \pi i(w + \bar{w}))} \right)$$

$$g\left(\frac{1}{\sqrt{2\pi}} \frac{1}{\sqrt{2\pi}} \frac{1}{\sqrt{2\pi}} \right)$$

$$= \frac{1}{\pi} \int g(w) e^{-|w|^2} dw \cdot \frac{1}{\sqrt{\pi}}$$

$$e^{-\alpha^2} \frac{1}{\sqrt{\pi}} f(z) \text{ in } \mathcal{R}$$

$$\iint e^{-\pi z^2} dz = 1$$

$$e^{-\pi x^2} \int_{-\infty}^{\infty} dx = 1$$

$$\int_0^{\infty} e^{-\pi x^2} dx = \frac{1}{2}$$

∫

1/2